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Q.1 Fill in the blank choosing the most appropriate option. 

My mom made a of cookies. 

(a) batch (b) stack (c) cluster (d) flock 

Q.2 Which of the following is not a correct compound noun? 

(a) fireplace (b) upstairs (c) bookshelf (d) Science book 

Q.3 Select the correct pronoun and fill in the blank. 

The boys and I watered the plants by ------------ 

(a) ourselves (b) himself (c) herself (d) yourselves 

Q.4 Choose the correct verb. 

The servant posted the letters. 

(a) did (b) was (c) had (d) both a and b 

Q.5 Identify the third form of the verb “thrust”. 

(a) thrusted (b) thruster (c) thrust (d) none of them 

Q.6 Choose the correct homophone to complete the following sentence. 

Sujit will be Mr. Rao's legal . 

(a) hair (b) heir (c) here (d) hare 

Q.7 A person who has no belief in God is a/an . 

(a) immoral (b) egoist (c) rebel (d) atheist 

Q.8 Choose the correct adjective and fill in the blank. 

It was very cold yesterday, so I remained indoors day. 

(a) some (b) any (c) no (d) all 

Q.9 Choose the correct option 

My friend has toys. 

(a) big, plastic, new (b) big, new, plastic 

(c) plastic, new, big (d) plastic, big, new 

Q.10 Choose the correct articles and complete the following sentence. 

  Rome was not built in day. 

(a) No article, a (b) A, a 

(c) The, a 12 (d) No article, the 

Q.11 Select the correct preposition and complete the following sentence. 

You should not leave the wet clothes the bed. 

(a) in (b) at (c) on (d) to 

Q.12 Choose the correct conjunction. 

Five years have passed he left tea. 
(a) since (b) for (c) after (d) before 



MATHS (15 Marks) 

Q.13 Choose the correct preposition. 

The business tycoon entered a deal with the locals. 

(a) in (b) to (c) into (d) no preposition 

 

Read the comprehension passage carefully and answer the following questions. 

The National Festivals, like the Independence Day, the Republic Day and the Gandhi 

Jayanti play a great part in promoting national integration. In these festivals, people 

belonging to all religion, castes, creeds, colours and sexes take part equally and 

commonly. As such they are swayed by the common feeling of unity and similarity. 

National Flag, National Anthem and National Emblem act as a great binding force. 

Q.14 What do national festivals promote? 

(a) Racism (b) National integration 

(c) Casteism (d) Religion 

Q.15 Why do people belonging to different religions celebrate National Festivals? 

(a) They get a common feeling of unity. 

(b) It is compulsory for all to celebrate. 

(c) It is a fundamental right. 

(d) None of these 

 

Q.16 Rohan collected soda cans today. At the end of the day, he had 15 cans. Which 

Roman numeral option shows how many cans he had collected? 

(a) VVV (b) IIIV (c) VVIII (d) XV 

Q.17 XIX + XXX =    

(a) 55 (b) 51 (c) 49 (d) 44 

Q.18 What is the missing number in the following pattern? 

187, 179, 171, ? , 155, 147, 139 

(a) 163 (b) 159 (c) 169 (d) 167 

Q.19 Neha has 46 books in her desk. Nalini has 18 books in her desk. Which number 

sentence can be used to find how many more books Neha has than Nalini? 

(a) 46 + 18 (b) 18 – 46 (c) 18 + 46 (d) 46 – 18 

Q.20 Raman has 7 candies. He gave 4 candies to his brother. What fraction of candies is 

left with Raman now? 

(a) 3/7 (b) 4/7 (c) 7/3 (d) 7/4 

Q.21 There were 356 bananas and 489 apples in a basket. Find the total number of 

fruits in the basket. 

(a) 845 (b) 815 (c) 548 (d) 518 

 
Q.22 When 4215 is added to 5324, the digit in the hundreds place of the answer is . 

(a) 5 (b) 9 (c) 8 (d) 7 

Q.23 Subtract the smallest 3-digit number from the greatest 3-digit number. The 

answer is . 

(a) 900 (b) 899 (c) 100 (d) 999 
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Q.24 The total length of 6 equal plane figures is 54 feet. What will be the total length of 

9 such plane figures? 

(a) 80 feet (b) 81 feet (c) 82 feet (d) 79 feet 

 
Q.25 There are 400 books in a library. Arrange all the books in groups in such a way 

that each group contains 50 books. How many groups can be formed? 

(a) 4 (b) 5 (c) 7 (d) 8 

Q.26 On multiplying 12 and 5, we get the same number which is obtained on 

multiplying    

(a) 4 and 15 (b) 3 and 20 (c) 2 and 30 (d) All of these 

Q.27 Sneha bought 12 boxes of cold drinks for a party. There were 19 cans in each 

box. How many cans of cold drink did she buy altogether? 

(a) 232 (b) 228 (c) 216 (d) 202 

Q.28 How many one-fourths will make one whole? 

(a) 5 (b) 4 (c) 3 (d) 15 

Q.29 Read the following statements: 

Statement 1: A line segment has fixed length and it cannot be extended. 

Statement 2: A ray has fixed length and it cannot be extended. 

Which one of the following is correct about the above statements? 

(a) Statement 1 is true and 2 is false. (b) Statement 1 is false and 2 is true. 

(c) Both statements are true. (d) Both statements are false. 

Q.30 I have 6 square faces. A dice looks like me. Who am I? 

(a) Cuboid (b) Cone 

(c) Cube (d) Square 
 

Q.31 Choose the correct option. 

(I) Families are a source of great irritation. 

(II) Every member of a family is unique on his own. 

(III) We must not meet our extended families. 

(IV) Change in the value system also leads to a change in society. 

(a) TFTF (b) FTFT (c) TTFF (d) FFTT 

Q.32 People who are visually impaired use their sense of to read and write. 
(a) smell (b) hear (c) touch (d) taste 

Q.33 Read the following conversation between two friends. 

Rahul -Yesterday I fell down from the swing. My knee is hurting badly. 

Riya- Today my little brother tore my notebook. I have to buy a new one. 

Which of the following people should they visit? 

(a) Rahul – Greengrocer; Riya - Plumber 

(b) Rahul – Plumber; Riya - Greengrocer 

(c) Rahul – Doctor; Riya - Stationer 

(d) Rahul – Greengrocer; Riya – Doctor 



Q.34 Choose the correct option. 

(a) Medical, Nurse, Mason 

(b) Construction, Mason, Architect 

(c) Designing, Clothes, Doctor 

(d) Film making, Director, Plumber 

Q.35 Nowadays we hear a lot of news in which the sportspersons are being penalized 

or are banned from playing. The reason behind it is . 

(a) the violation of rules and regulations by the sportsperson. 

(b) the authorities need to remove old players to let others come in. 

(c) the players need some rest. 

(d) the sportspersons want to take some time off to go on a holiday. 

Q.36 In desert plants, leaves are modified into spines to prevent the loss of: 

(a) food (b) water (c) colour (d) oxygen 

Q.37 Extra food prepared by the plants is stored in the form of: 

(a) starch (b) glucose (c) simple sugar (d) vinegar 

Q.38 Stomata present on the leaf is responsible for: 

(a) Taking up carbon dioxide from the surrounding air. 

(b) Giving out oxygen in the air. 

(c) Transpiration. 

(d) All of these 

Q.39 Read the given characteristics– 

P – Flesh eating animal 

Q – Plant eating animal 

R- Omnivores animal 

Identify the animals P, Q, R based on the characteristics given above. 

(A) P-Wolf, Q-Lion, R-Cow 

(B) P-Camel, Q-Cat, R-Lion 

(C) P-Lion, Q -Goat, R-Crow 

(D) P- Bat, Q-Deer R-Lion 

Q.40 Which of the following is NOT an insect? 

(a) Spider (b) Cockroach (c) Honey bee (d) Butterfly 

Q.41 In which of the following processes do birds travel long distances to avoid the 

hardships of winter? 

(a) Migration (b) Hibernation (c) Aestivation (d) Camouflaging 

Q.42 Which of the following nutrients gives us instant energy? 

(a) Carbohydrates (b) Proteins (c) Minerals (d) Vitamins 

Q.43 Which of the following is required for strong bones? 

(a) Calcium (b) Vitamin D (c) Both (a) & (b) (d) None of these 

Q.44 Pinky took two balloons. She blew air with mouth in one balloon and she filled 

another balloon with the vapours of boiling water. She released the two balloons 

and observed that the balloon with the hot vapours rose higher than the other 

balloon. What did she learn from this experiment? 

(a) Hot air is heavier than the cold air. 

(b) Water vapour give energy to the balloon. 

(c) Air likes hot balloons. 

(d) Hot air is lighter and therefore rises higher. 
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Q.45. Seema took a glass of cold water from the refrigerator and placed it on a table. 

After a few minutes she observed water drops on the outer surface of the glass. 

Why were the water drops formed? 

(a) Glass produced water droplets. 

(b) The water in the glass seeped -out. 
(c) Water vapour present in the air got condensed after coming in contact with the cold 

surface of the glass. 

(d) Water came out from the gaps present in the glass. 
 
 

Q.46 Who among the following is the first Indian Woman President from the tribal 

community? 

(a) Renuka Singh Saruta (b) Ranjana Baghel 

(c) Draupadi Murmu (d) Kamla Beniwal 

Q.47 Which of the following is the capital of Maharashtra? 

(a) Mumbai (b) New Delhi (c) Chennai (d) None of the above 

Q.48 Which of the following is the capital of Uttarakhand? 

(a) Lucknow (b) Prayagraj (Allahabad) 

(c) Dehradun (d) Shimla 

Q.49 Who among the following was the second President of India? 

(a) Dr. Sarvepalli Radhakrishnan (b) K.R. Narayana 

(c) Dr. Rajendra Prasad (d) Dr. Zakir Hussain 

Q.50 How many stars are there on the American flag? 

(a) 50 (b) 40 (c) 30 (d) 20 

Q.51 Which of the following is the only country which does not have a flag that is 

rectangular shaped? 

(a) Mongolia 

(b) Nepal 

(c) Brazil 

(d) Canada 

Q.52 Which of the following continents is also called as the Dark Continent? 

(a) Africa (b) North America (c) Asia (d) Antarctica 

Q.53 Which of the following continents has more oceans? 

(a) Africa (b) Asia (c) Australia (d) Antarctica 

Q.54 The instant noodle was invented by: 

(a) Momofuku Ando (b) Akio Morita 

(c) Koki Ando (d) Konosuke Matsushita 

Q.55 Which of the following is the ccTLD of Austria? 

(a) .au (b) .at (c) .ar (d) .as 

Q.56 Which of the following Indian States is called as the ‘Gateway of South India’? 

(a) Andhra Pradesh (b) Karnataka 

(c) Tamil Nadu (d) Kerala 

Q.57 Which of the following books is written by Kapil Dev? 

(a) One day Wonders (b) Twenty Years at the top 

(c) Cricket -My style (d) Cricket -My Favourite Game 

Q.58 Which of the following is the full form of "ATM"? 

(a) All Time Money (b) Automatic Teller Machine 
(c) Automated Teller Machine (d) Any Time Money 



Q.59 Which of the following is the national sport of Japan? 

(a) Judo (b) Karate (c) Sumo wrestling (d) Cricket 

Q.60 The term ‘jab’ is associated with which of the following sports? 

(a) Cricket (b) Boxing (c) Billiards (d) Basketball 


